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Topic:- General Studies

1) Choose the best option to complete the sentence:

, tobacco farmers had not yet felt its effect.
1. Though a campaign against smoking
2. That there was a campaign against smoking
3. Even though there was a campaign against smoking
4, There was a campaign against smoking

Correct Answer :-

« Even though there was a campaign against smoking

2) 3¢ fP UTT 3T 2sg B2
1. bl
2. BRE!
3. 3Rl
4, GXpd

Correct Answer :-

- Tt

3) Find the median salary of workers of a factory given below (in rupees). / Y PREAM & Q\_rlg'aﬁ
3y = & i ], Ay oMy (FUT H) §d B

1210, 890, 560, 380, 980, 700, 700, 720.

1. Rs. 700 / 700 =UU
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2. Rs. 710/ 710 =UU
3. Rs. 720/ 720 =UU

4. Rs. 1210/ 1210 =UU

Correct Answer :-
e Rs. 710/ 710 4T

4) Who is the present chairperson of the National Human Rights Commission? /112‘111 UHATRIGTR TART & TAHT
A DI G?

1. Justice Shiva Kirti Singh / SRy g i Rig
2. Justice K.G. Balakrishnan / STRCH doll STTp@H
3. Justice H.L. Dattu / SIR¢H TIUd &

4. Justice Gyan Sudha Mishra / STREH I T Ay

Correct Answer :-

e Justice H.L. Dattu / SIR¢H TIUA &

5) The following question is based on an encryption system in which / {9 u% t& fohw yorrett
wR Syt § form

You are watching cricketis coded as Wa Cr Yo Ar | You are watching cricket &Y Wa Cr Yo Ar®

pifsd frar s 8
Cricket is a sportis coded as Yz Sp I Ar | Cricket is a sport P Yz SpI Ar S ®ifsd far s %
You are a kidis coded as Wa Cr Yz Ki | You are a kid &\ Wa Cr Yz KiQ ®ited far &ar g

What is the code word for Cricket? / Cricket & ford I QMo AT %”
1. Wa

2. Cr

3. Yo

4. Ar

Correct Answer :-

6) The product of two rational numbers is always / &t Ui T=Imaii &1 TUr% d,

WA TH g &l
1. A positive integer / Y-THD E[UW
2. A negative integer / BUNHD ‘{Uﬁa’?

3. A rational number / TREY T
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4. An irrational number / 3MUREY AT

Correct Answer :-

« A rational number / URET T

7) The main function of blood platelets is to help

GET IT ON
Google Play

g SRAT S 5
1. form urine / g3 fAAf0T

2. excrete urine /IETGT\‘:ITS&T

3. clot the blood / T& T YTRPT SHA

4. form sweat / W fRmfor

Correct Answer :-

e clot the blood / I&d BT YFHT STHA

8) Choose the appropriate prepositions for the given sentence:

We are going a vacation the end of August.

1. in, of
2. of, at
3. by, until

4. on, by

Correct Answer :-

9) Permanent hardness of water can be removed by addition of

gftadw g1 gr foran ST wwar 81
1. calcium chloride / AR Tﬁ‘hﬂ%
2. magnesium carbonate / ﬁ":ﬂmﬁ CAEIE
3. sodium carbonate / STH HIa-c
4. magnesium sulphate / AR Jethe

Correct Answer :-

e sodium carbonate / SSTH HTIC
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Two bicycles are sold at Rs. 1,920 each. On one, he earns a profit of 20% and on the other; he incurs a

loss of 20%. What is the overall result? / 1,920 =YY ufa '\‘TIE'W & fears I 33[ WIE'W CE] 11'§|

TH W, 3 20% ATH YIS T MR G WR, I 20% B g3 | T9T uf¥ony i 32

1.4%loss / 4% @ B
2. 4% profit / 4% <TYH

3. 2% profit / 2% TH

4. no profit, no loss /:Tﬁ—scfﬂ‘l-f, :TWBT&[

Correct Answer :-

e 4%loss /4% © M

11) Who took over as the 25® Chief of Air Staff? /253 T 3ITP TAR WLIF & U A U fHraa FHTa?

1. Air Chief Marshal Arup Raha / TR 9% AR 350 &1

2. Air Chief Marshal B.S. Dhanoa / TR 91t ATRId & TF e=1af

3. Air Chief Marshal N.A K. Browne / TR I AT TqT & STt
4. Air Chief Marshal S.P. Tyagi / TR 9% ATRfat Tqdt arft

Correct Answer :-

e Air Chief Marshal B.S. Dhanoa / TR Tt AT &t TF 4131

12) Rajat noticed one of the lakes in Bangalore with dead fishes floating around & covered with

a slimy green substance. The reason foritcouldbe___

/TSI A 3@ b S B U

gﬁaﬁqawmswgwawﬁ%eﬁ?qaﬁsﬂanﬁﬁvﬁﬁﬁmﬁﬁmélm

HRUT B Ipdar gl
1. Ieaching/ﬁf&‘l’lﬂq (Fﬂﬁm)

2. eutrophication /gthw (@WQFD
3. chlorination /Tﬁhﬁ:ﬂ

4. chemical contamination /WTCIWW

Correct Answer :-

« eutrophication /ﬁChWUT (Q@W-‘ZFD

13) Choose appropriate articles for the given sentence:

Anita remembered going with group of friends for

1. a, the

expedition.
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2. an, the

3. the, the

4. an, an

Correct Answer :-

e a,the

14) The Pradhan Mantri Ujjwala Yojana launched on 1% May 2016 aims at ./1 713 2016 B = D1 T ger==h

Jeaa A PTAE el

1. Providing LED bulbs to economically backward classes. / s U ﬁl@@; T b 1%1? Qﬂgﬁ dod YgH hAl

2. Providing LPG connections to women BPL households. /W'Qa IRaRY ﬁ'ﬁ%?ﬂﬁﬁ %ﬁﬂ QT’TCﬂTSﬁ DR SUTR] DRI

3. Providing education to girl students below the age of 16. / 16 Y I HH 3G Pt TSfHdl i FRI& UM BT

4. Providing loans to women entrepreneurs. / Afgall Il B B TG BRAT

Correct Answer :-

e Providing LPG connections to women BPL households. /TSﬂ'Cﬁ'QF‘T IRARY ?efrl'%?l'[\ﬁ %ﬁvﬂz QF‘I'Cﬂ\_rﬁ DR SUTR] DRI

15) o srouat | g, Wi, gum 3nfe yra sferd gid 8 auT e S aren & feft ug 3

eI BT, 3¢ Ped § |
1. GrERIED

2. GATSIY®H

3. fAura

4. fowrafeaius

Correct Answer :-

. fowafeaus

16) 3ITTR, 3MAd, fHd= 9YT AN fPy W & waigar g2

1. 94

2. TR
3. O

4. 0d

Correct Answer :-

W
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17) The outer planet Uranus spins about its axis from . /E'IF'\FT u‘s'uﬁ‘—r\q, 3=t
iWw_ guargl

1. east to west/tfcfﬁtl@'q
2. west to east / UfSH ¥ qd
3. north to south /B?IT@EF&TUT
4. south to north / GI&ITT ¥ IR

Correct Answer :-

e eastto west/Qﬁﬁq@q

1) %D'Fﬁﬂ-iﬁl I 64 =T 14—1
1. 196
2. 210
3. 176

4. 180

Correct Answer :-

e 176

19) If IJKLMNOis coded ACTVSRX, then how is KILL coded? / Tlﬁ IJKLMNO & ACTVSRX A
HIfSd frgT ST §, @ KZLL Y A Hifsd fraT s

1. TVSS
2. TAXX
3. TAVV

4. TSVv

Correct Answer :-

20) TreaTdf Tfed w1y’ ug i fraat 32
1. AT

2. pdd

3. YTg

4, famafor
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Correct Answer :-

21) Choose the correct form of tense for the given sentence:

We can go out now. It any more.
1. doesn't rain

2. didn't rain

3. isn't raining

4. never rains

Correct Answer :-
« isn't raining

22) Evaluate the following using a suitable identity (922-82). / SUgdd AIGIed BT IUANT HXd §T
Frafafaa &1 gqeaied o9 : (922-82)

1. 842
2. 84000
3. 8400

4. 9846

Correct Answer :-

« 8400

23) Choose the correct form of tense for the given sentence:

I ___ in Bangalore in the middle of September 2005.
1. has arrived

2. arrived

3. had arrived

4. arriving

Correct Answer :-

e arrived
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24) Choose the correct form of expression to complete the sentence:

We are extremely sorry to lose Johnasan ___ in the machine shop.
1. employer

2. employee

3. employed person

4. employees

Correct Answer :-

« employee

25) How many lines of symmetry can be there in a regular hexagon? / Tdh AT

USH ¥ AT B fodel T@IT g1 Thell 87

1. Two/??f
2. Three /?‘ﬂ:f
3. Four / dR

4, Six/'9:

Correct Answer :-

e Six/9:

Topic:- Radiotherapy Technician

1) Which is INCORRECT statement about tissue air ratio? / S d® dIg UTd (ﬁ'ﬂlw
IR F IR A P I $UYT 3T 87

1. It increases with field size. / g & PR &b 1Y dodl %I

2. It is independent of SSD. / Ug W@@pf I Wgda % |

3. It depends on depth. / Ug TIETI% L°C3 ﬁ“—f'\’ hdl %I

4. It is independent of beam energy. / g ng\_rf ol ¥ WA g

Correct Answer :-

« Itis independent of beam energy. / g WI'EF[ Foll ¥ W g
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2) Cancer and genetic defects are examples of

YHTA! & ISIET0T &
1. Stochastic / THHTH
2. Non-stochastic / ?R-W'J-ﬂw

3. Deterministic / FIYRUTE®

4. Birth / oH

Correct Answer :-

« Stochastic / THHTH

GET IT ON
Google Play

effects. / IR 3R GI'Iﬂaﬁﬁ; qy,

3) Which one of the following statement is INCORRECT with regard to the rules for series

circuits? / e ufudl & framt & ey ¥ fufafEa & @ o9 91 sy Taq 82

1. The total resistance is equal to the sum of the individual resistances. / < Y R4, Thd faRiel & I

P RER A8

2. The current through each circuit element is the same and is equal to the total circuit current. / Td®

ROy I & H1EH § URT JHH 8 & a1 S URUY YRT & SRISR gl ¢ |

3. The sum of the voltages across each circuit element is equal to the total circuit voltage. / T gRuy

I T oRA aTell dieed! &1 TN, $d URYY dieedl & sRISR gidl ¢ |

4. The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / Pl

UfeRIY, UA% U UfeRIY & Skl o INT BT Ufdad gidi g |

Correct Answer :-

« The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / Pl

Ui, UA® U UfeRIY & bl & TN &1 Ufdad sidr g |

4) In which of the following type of X-ray interactions with matter is the energy of the incident

photon partially absorbed? / verd & ATy F1Y T Husl & UeR) | I fHad om ara wielq
B ol RS FUF aifa X ot aret 82

1. Coherent / T
2. Pair production / ¥ SdTGT
3. Compton / PHIed

4. Photoelectric / Wrszﬁgqﬂ

Correct Answer :-

« Compton / PHIed

5)
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Which of the following contributes significantly to the exposure of the radiographer? / IFETRTHR

& I & fore Fruff@a & @ o9 guTdt =0 8 9R1gE Har @2
1.Positrons/t|'\fﬁ.r|§'\|’q

2. Electrons / 3@3«‘5?
3. Compton scattered photons / P U IOl Wi

4. Compton scattered electron / HIPH Y Iod sﬁag‘l':r

Correct Answer :-

« Compton scattered photons / S FebIford Wici-

6) Doses greater than 0.5 Gy result in ./0.5 vﬂmé (Gy) 3 lql & AT (@ﬁ\_rl')
CaR IRy gar gl

1. Oligospermia / 3{cUR[PTU[CT
2. Hormonal balance / _E:W W

3. Azoospermia / ST[PTUT
4, Permanent sterility / BJjp]| 317:17{17'”

Correct Answer :-

« Azoospermia / ShIU[T

7) Cobalt 60 has a energy of ./ PIaree 60 | o P Sull gidl gl
1.2.26MeV / 2.26THgAl

2. 1.26MeV / 1.26UHS4!

3. 2MeV / 2UHgaAl

4.2.21MeV / 2.2 1TH=at

Correct Answer :-

. 1.26MeV / 1.26THsal

8) Which one is NOT a gas filled detector? /P T Udh R GRT T URT T LIk CE2 87
1. Tonization chamber / 3TIIHRUT HE
2. Photomultiplier tubes / YhTRT _’i'aE@:IJ:[ Hatfe :ﬁ%‘fﬁﬁ

3. Proportional counter / @ﬂﬁqm Ucd
4. GM counter / SITTH BTG
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Correct Answer :-

- Photomultiplier tubes / ThTRT eTaC 4 Hatdh AfereTd

9) Where is the penetration power greatest in? / Sfrmaw aeH wfad frad Eﬂ?ﬁ %?
1. Alpha rays / SHctbl foult

2. Betarays / ater farul

3. Gamma rays / ITHI foult

4. Neutrons / :CET:T

Correct Answer :-

« Gamma rays / ITTHI fopon

10) Which of the following instrument should be used to locate a low level radioactive

contamination? / frafafEa # & fory Sumwur &1 geduTa o=t Wt Yfsarudt d@guor &1 var
o & forg foear s anfge?

1. GM counter / \_rﬂ'@:f PI3R

2. TLD / <ludst

3. Cutie pie /?ﬂ?of q'l_sf

4. Proportional counter / \HHCITW Ucd

Correct Answer :-

e GM counter / \_rﬁ'QT[ ) [Tk

11) Select the appropriate definition for protective barrier occupancy factor. / JR&T 9147
ARIURT PR & forg I afeuTen o1 797 w1

1. The quantity that best describes the weekly radiation use of diagnostic X-ray. / HIAI, S %ﬁm Q(*H—%

BT AT [AfhRor JanT arad &0 § afvid &l |

2. Quantity that was introduced to select this fractional contact time. / HII, S 31ifre due qHg &1
TG HA o ferg feram 7 1|

3. Modify the shielding requirement for a particular barrier by taking into account. / U fAfErd sren & forg
& 3G §U URRE D I DHal HRNTAT HAT|

4. Energy of the scatter radiation is equal to the primary radiation. / PEAERCIERULCH] 35”, PIiEec
fafesor & TAA B |

Correct Answer :-

» Modify the shielding requirement for a particular barrier by taking into account. / Tdh fAfera smen o fow
& 3G §U URRED I Dl HRNTAT HAT|
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12) Milliampere second (mAs) per week is used to determine . 1 ufa gware freieaitar
TP s (THUTY) ﬁﬁﬂﬁiﬂﬁﬁﬂ?ﬁmmmm%l

1. Use factor / JONT R
2. Work load / T8 HR
3. Occupancy factor / SN RS

4. Distance factor / @ DRp

Correct Answer :-

« Work load / BTJ YR

13) Which of the following characteristics primarily differentiates the probability of occurrence of

the various interactions of radiation with human tissue? / fFaforRaa & | @19 faiwan HEI =4
A A Hae! & a1y fafevor & fafira Judh g 31 ge 9 wikiear o fadfea st 32

1. Exposure time / 3o&I JHI

2. X-ray beam intensity / TR ﬁV_\"UTﬂTY[ GIEG]

3. Direction of the incident photon / Yc Il BiciH &1 fazm

4. Energy of the incoming photon / 3 ATA BIeH B Sl

Correct Answer :-

e Energy of the incoming photon / 3 a1 BIe Bt Sl

14) Which of the following statement is INCORRECT with regard to X-ray interaction with

matter? / UGTY & ATY THH-X SaRfehal & Aoy A A & A S 9T HY Tad 82

1. To image small differences in soft tissue, one must use low kVp to get maximum differential absorption.

/ P SHdd B g 3R o 701 & oy, iy faves sa=nyu am & fou faeht &, ==
ATl TIRT =1 Al

2. The interaction of X-rays with tissue is proportional to the mass density of the tissue regardless of the

type ofinteraction./WT%WqTWﬁ'qm, W—%ﬁmﬁ W,Waf
S U b FHTIUTA Bt B

3. Differential absorption increases as the kVp increases. / Tt aaer & Y faved gy Jedl gl
4. Differential absorption increases as the kVp decreases. / Hdrdl ged & A1y [aNed Sa=nyur dedl gl

Correct Answer :-

« Differential absorption increases as the kVp decreases. / HdIdl ged & 1Y faNed Sa=nyur dedl gl
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An atom is said to be electrically neutral when the number of . / T UIHI],

fagaa ¥u @ Igri= o1 9T § 99 |

1. Protons is equal to number of electron. /En?\ll:f GhT $€1d§T'1 BT TSAT SRR fﬁ?‘ﬁ %I

2. Neutrons equals the number of electrons. / ri;_l\cAi\Il"I 3R $Q-'\1d§\ll'-| D1 H-AT SRR BIall %I

3. Protons equals the number of neutrons. / LI\I CT"I 3‘ﬁ? *ﬂ\gT"I B T SRR Eﬂ?ﬁ %l
4. Protons equals the number of nucleons. / e 3R Q{%&ﬁq &1 =T SRIER gl g |

Correct Answer :-

« Protons is equal to number of electron. / SIElE G?R 5(:\10?;\('1 P T-AT SRR @?ﬂ %I

16) The process of releasing energy by emitting particle by an unstable nucleus which
transforms to a stable one is called ./ Gh FRRR TA1fHF & 1K U SIS BId
gU Sull Ble+ @1 ufshar, ot f fRR & TuaRa s et g, Fgarndt gl

1. Stable nuclei / FRUR TIf¥1ep

2. Half life / 31¢f 3

3. Transition / FshHUT

4, Radioactive decay /fSTredt e

Correct Answer :-

 Radioactive decay / Tt e

17) Which of the following target is used for a linear accelerator? / Idg @ A

frafifad & @ 19 1 9&a uged gar @2
1. Rotating target / wﬁa&q

2. Stationary target / Rfdd qea

3. Transmission target / UHIRUT &

4. Steel target / TTITd A&I

Correct Answer :-

« Stationary target / Rfdd qea

18) Which one of the following use factors is recommended by the International Commission on
Radiological Protection for primary barrier when uses at the X-ray room floor? / QW-} D& dI W

TN 3 W, Wi arur & forg Aeaudf yram w siaridia smat & gy, Frafafea v
PRPI A A I AT SRR fomar mam 82

1. Full use factor / q:Uf TN DPRD
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2. Partial use factor / R® YA FRB
3. Occasional use factor / HTHHH JINT HRB
4. No use factor / TN HRPB

Correct Answer :-

 Full use factor / U;Uf TN HRD

19) The recommended monthly dose limited to the embryo or fetus is A UK

TR Ry R At dwgaaReamEs) . I
1.0.05mSv

2.0.1mSv

3. 0.5mSv

4, 2mSv

Correct Answer :-

e 0.5mSv

20) The dose level an individual engaged in non-life saving activities during radiation emergency can

safely receive per event. / fafepor mﬁ%aﬂq, R-sftaq & Tfafaferay &
o Afad, JRIda Fad Ufd e, 7T W (SIS Ade) UTtd R JhdT g

1. 10 mSv
2. 30 mSv
3. 50 mSv

4. 100 mSv

Correct Answer :-

e 50 mSv

21) According to AERB, what is the average annual radiation exposure dose allowed for a

radiation worker? / Q'&FGI'IW & SR, fafevor st & fere ﬁﬁ 3Nua arftfe
fafpvor g wm foait 82

1. 0.5 mSv
2. 20 mSv
3.5 mSv

4. 10 mSv
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Correct Answer :-

e 20 mSv

GET IT ON
Google Play

22) Cataract, skin erythema, sterility, radiation myelitis, and fibrosis are all seenin

effects. /lﬁﬁmﬂ%——c{ < I ((Rp SRR, srgdvar, Rfeo dvesmity, aur

dquaar,aft

UHEI H ¢@ S 2|

1. Stochastic / THHTS (LIbReah)

2. Genetic / G‘W

3. Chronic / RRTeI® (hIfa)
4. Deterministic / ﬁ%I‘TTUTW

Correct Answer :-

« Deterministic / ﬁﬂhﬂm

23) Due to heel effect, which side will the radiation intensity of the beam reduce in X-ray

tube? / TS YUTT & BRI, THH-X AfTD1 H fbxorgsl 31 fafezor diaar forw ured w9

gl smaaf}?

1. Cathode side / YIS UTRG

2. Anode side /Q:n_S' tlT-‘lff

3. Between anode and cathode sides / Q:ﬁ—s' GﬁT %u‘l:cr tlT%ﬁ% ElE)
4. Central axis / a1 &

Correct Answer :-

e Cathode side / aﬂﬁg UTQ_J

24) Iodine - 125 has 53 protons and 72 neutrons in its nucleus and its decays with half-life of 59.4

days by a process called

T ufspar o

1. Attenuation / &‘ﬂ'UF‘T

./ TSI - 125 ® 53 Wi § a1 3% ATHS | 72 I § aul

T WA 7, & §IRT T8, 59.4 fe=1 3t aref 3y & |1 &y giaT 71

2. Electron capture /3@5@1&[ Y

3. Pair production / JTH-3ITGT
4. Photodisintegration / UhTRIfdge

Correct Answer :-

» Electron capture / séaij:l gYq
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25) When an electron combines with a proton, it is said to be ./ Sld U sﬁaﬁ:r, U

WA Jedare, disd FET AT
1. Electron capture / 3@17@7:[ YT
2. Nucleus / FTH&

3. Atom / YIHIY]
4. Neutron / ?qgvﬂ

Correct Answer :-

« Electron capture / 3@5@&[ YT

26) is an area outside the target that receives a higher dose than the specified
target dose. / &g & 9T8% UP &7 @ o) ARy ey | § 3ifires /s &) v
AT

1. Hot spot / dtd &fcT
2. Cold spot / oftd wid

3. 1TV / 3Tecidl
4, PTV / UIcIat

Correct Answer :-

« Hot spot / dtd et

27) Which of the following options is useful for radiography imaging when target material used as

tungsten?/mm%mmﬁﬁﬁmmm%mmm,
EREA & U H YaHT 31 oAl 82

1. K-characteristic X-rays / - & TR-X

2. L-characteristic X-rays / Q?T—\’rl'f\ Y& e Qa'\q—%
3. M-characteristic X-rays / Q'q—\’rif\ 'J-IT'IT&‘I'&'W W—%
4. N-characteristic X-rays / - Hcerfors W—%

Correct Answer :-

o K-characteristic X-rays / &-3ffaerfis Ta-X

28) Which one of the use factors is recommended by the International Commission on Radiological
Protection for primary barrier when uses at the X-ray room doors and walls? / W—i’ P&l gearell
YT EHaRT W YART H4 W, Wrafies arer & forg yfSaredi gran w siarfgia smat & g,
fFrefafea v sret & | 919 a1 ergRifyd far srar 32
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1. Full use factor / U;Uf TN HRD
2. Partial use factor / HfRd YA FREB

3. Occasional use factor / HTHH YA HRB
4. No use factor / C’er'&PT DhRD

Correct Answer :-

« Partial use factor / 3ifRIPH TN HRD

29) Thickness of absorbent that decreases the incoming radiation dose by 90% is ./

Jraitae 2 wiieTs, it oY AT R A AT Y 90% TH FAPTR R, T R
1. HVL / Tadidd

2. EDW / 3818&q,

3. TVL /Cldiud

4. MLC / THTqE!

Correct Answer :-

. TVL/3ldud

30) What is the filament embedded in a metal cup called as? / YTq HYU o 3id: w1

framic =1 Fgadr 82
1. Focusing cup / BIHRIT HU
2. Cathode / %“’-ﬁg

3. Anode / Q'_‘“S
4. Stem / &H

Correct Answer :-

« Focusing cup / BIhRIT BY

31) Below lists are types of cooling method in X-ray tube, EXCEPT for / G|

Srsor, A girr e Afee A fita- fafy & ver 7

1. Conduction / DT+

2. Convection / Tdg-
3. Radiation / fafs=ur

4. POTENTIAL energy / FRUfaS Saf
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Correct Answer :-

« POTENTIAL energy / FRUfTS St

32) Interaction of X-ray photons with any atoms of biologic matter are ./ Sifaw ugrd &

gt wuTUle & 1Y TE-Y WielAl ot sfafhar, 2l

1. Able to be pre-planned to selective atoms in order to limit radiation exposure to those atoms / Tgfd

AT ¥ fafaor S Hifia &3 & o 3t gd e 5 wel™

2. Important only in therapeutic radiology / Had SUARIAD ASararet IIEHQ:UT

3. Random in nature and therefore the effect of such interactions cannot be predicted with certainty /

T H Urefse IR Sl 37 SRR & wTa &1 Fifad & a1y gafgem Tet o o
SETIT

4. Unimportant in diagnostic radiology making radiation protection unnecessary / W NERINISIE
eyl el o fafes=ur gRen &1 3FTawae arar 8

Correct Answer :-

» Random in nature and therefore the effect of such interactions cannot be predicted with certainty /

Ughia & aefasd SR SAMIT 37 SiaRfransii & uyTd &1 Affrdar & a1y gafgae et avman s
Tl

33) During a gamma emission, the nucleon number is changed by . / Tp TTHT

ST & R, e G N $gRIFGH ol 8
1. Definite / F3a

2. Zero / [

3. Increases by 1/ 1 ¢ STl §

4. Decreases by 1/ 1 9 St @

Correct Answer :-

34) How is the unit of nuclear binding energy expressed? / TSI oM el i WI%
fa v vefRfa i ordt 32

1. kV /Ppdl
2.eV/_E§a)f
3. MeV / THSAl

4. Joules / v[cT

Correct Answer :-
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35) Which of the following statement is CORRECT regarding the properties of X-rays? / Uﬁ'\q—% 3|

fowareft & Wey § Fufafea d ¥ s T a8 @2

1. They are non-heterogeneous. / 3 R-favmerdg %I

2. They move at the same speed of sound. /9 G & FHM i IR Fadt %I

3. They can be focused by lens. / J T & GRIT dhigd B off Tebal! %I

4. They cause fluorescence of certain crystals. / q DS foreal @1 ufadifar Idad Hat %I

Correct Answer :-

» They cause fluorescence of certain crystals. / q DS foreal &1 ufadiitr Iad Hal %I

36) Which of the following statement is CORRECT regarding X-ray production? / W—%

IdTeH & oy & fFg A A HI9-971 9199 T8l 82

1. Characteristic X-rays are emitted when an inner shell electron fills outer shell void. /

afua%mqaﬂk,aawﬁh@?ﬁ%mw&mmwsﬁﬂiﬁﬁaﬂmmﬁ
WRATR

2. Only the L-characteristic X-rays of tungsten are useful for imaging. / IR &1 Had Td-

3frcTeriOre TaI 8l Bfa Urd H34 & fore ST g1

3. Bremsstrahlung X-rays are produced when a projectile electron is slowed by the electric field of
a target atom nucleus. / TSI U I S 81dl & o8 U Y& SaiaeH, Th A&
TRATY 11 & fagad & gRT fid &R fear Srar gl

4. In a diagnostic imaging range, most X-rays are characteristic X-rays. / b a1 femror gof

H, HRIH R TegY, SHfierafiis TeX gidt B

Correct Answer :-

« Bremsstrahlung X-rays are produced when a projectile electron is slowed by the electric field of

a target atom nucleus. / an@aﬂmkaama?ﬂ%wwmm ‘s’éazjﬁi, Uh d&g
ORATY AT & fagad &7 gRT diH a fear S g |

37) Which of the following system is the most radiosensitive vital organ system in human beings? /

Frrafafaa & @ o= At yomedt agwl & gaa ifte s -vdeT=ita agaypl 8 yomre! g2
1. Cerebrovascular / WWT%W(@W

2. Skeletal / HHTA
3. Hematopoietic / TadidTad

4. Gastrointestinal / ST&A
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Correct Answer :-

» Hematopoietic / JFAIdIGH

38) The intersection of the axis of rotation of the gantry, axis of rotation of the collimator

and axis of rotation of couch is called . ﬂ;"r%ﬁ[vﬁr 3Hef, PIAHR B qpﬁ SI& dYT
WRUI U e & o 3ref &1 ufasded, Hgara gl

1. Isocenter / W

2. Isodose / HHHATAT

3. SAD/ QHQSW

4. Output factor / g sR®

Correct Answer :-

« Isocenter / W

39) Biologic effects such as cataracts that result from exposure to ionizing radiation appear to have

which of the following? /aﬁﬁmn'q', o Mfearfa s WW%W%
afvuRaR=Y giar §, # fFafafaa § & feaer gian udia giar 82

1. Circular dose response threshold relationship / Q?ﬁq WR[h gfaforar guTaitaT dey

2. Linear non-threshold dose response pattern /LT IR- gHTIHET YR[h (@ﬁ\_ﬂ) gfdfear ufasa

3. Sigmoid threshold dose response curve / SaUgRyl YHTIHH YR[h (T’iﬁ\_:l) gfafear a%

4, S.ig.moid non-threshold dose response relationship / 3IUEET! TR-FHTII AT WR[H (@GD ufafear
RELX

Correct Answer :-

« Sigmoid threshold dose response curve / 3AYEU! YHTAHTHT WRIH (SI) Ufaferar ash

40) Which of the following is the unit of collective effective dose? / ﬁ'ﬂ' = | CAE| HTH:%EF JHTA

RIS (ST B DTS 87

1. coulombs per kilogram - sievert / ufd fraamm D - Htac
2. gray - sievert / DT

3. person - sievert / fad - dae

4. rad - sievert /XS - Hiaé

Correct Answer :-

 person - sievert / fad - dae
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41) Radiation induced chromosome damage may be evaluated during which of the following

%rocess?/mamw&rﬁ,mﬁﬁmma?aﬂqwmﬁmm

1. Prophase / tﬁﬁ?ﬂ
2. Metaphase / HETIR
3. Anaphase / UHTAXIT

4. Telophase / 3TTIRIT

Correct Answer :-

o Metaphase / HETARIT

42) is the fraction of the radioactivity in the sample which is present in the desired

%hemical form. / T # o o1 oiwr 8 5 gifed e wu d SufRia
|

1. Radiochemical purity /AR Lexdl
2. Radioactivity / YfSarefifar
3. Radioactive emission / SAYH Il

4, Radionuclide purity / %%@W Rl

Correct Answer :-

« Radiochemical purity /TR AS el

43) During radioactive handling, the clothing of the individual that has been contaminated should be

.1 fEarenff ® wrd & R, sfdd & wus &t gfa 8l T E, S
1. Burned innnediately/?:RT‘[Wé:ﬂaT%Hl

2. Placed in plastic containers and set aside for later evaluation / R fesal § a1 S T aﬂ%u ayr
§Ie ¥ gedic o g 3fei 1 =g Ul

3. Shaken out and put back on / FTSHY SIS UgH oFT1 A1 v
4, Aired out on a clothesline to decontaminate / ﬁmgw & 1%1? Uh dR UR &dT =Ry fear ST aT%'QI

Correct Answer :-

e Placed in plastic containers and set aside for later evaluation / wTiRes fesal H a1 ST EITI%'Qr ayr
§Ie ¥ gedic o oIy Sfei @1 =g Ul

44) Threshold dose for permanent sterility in women is ./ ol o wurft GIﬂﬁ-?_clT &
fore guTasiiaT 9 (@19 g

1.0.5t02 Gy /0.58 2 Gy
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2.3.5t06 Gy /3.596 Gy
3.0.5t0 1 Gy/0.59 1 Gy
4.2.5t06Gy/2.59 6 Gy

Correct Answer :-

.« 2.5t06Gy/2.596Gy

45) The Use factor (U) taken for calculating thickness of primary wall of a standard LINAC
facility is ./ A& AP (LINAC) Jfaem &t wrdfire fuRy @1 dierg &1
TUMHT HRA & foIT o s arat T R® () gl

1. 1

2.12
3.1/4

4. 1/16

Correct Answer :-

- 1/4

46) Which of the following instrument is used to calibrate radiography equipment? / BiRipILdl

IUBIU & 3T P forg FFrafriaa # A fora Susur &1 wai fear sirar 82
1. GM detector/\_rﬁ@m (Gﬂ'@%ém

2. Proportional counter / 3‘I'I71’CIT[%|$ gcd
3. Tonization chamber / 3TI-IH 0T H&f

4. Pocket ionization chamber / ST& HTIAEH 0T D&

Correct Answer :-

« Tonization chamber / 3TIHIU] H&

47) What is a free radical? / Yo HIP (B IEHa) T 87
1. An atom with an even number of electron. / sﬁaifﬁ P TH GAT d1ell T UHIT|

2. A chemically stable atom. / U IS &Y ¥ fRR GRAT]|
3. Any charged particle. / ﬁ's‘ 3TafRTd HoT|

4, An atom or molecule with an unpaired electron in the outer shell. / W S H G‘Hﬁilﬁ
3@3@7{ dredl Teh UHTY[ AT AT |
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Correct Answer :-

« An atom or molecule with an unpaired electron in the outer shell. / STgRI DI Y 3‘@'@?{
ga?:l@:[ dTedl Uch UXHTYL AT AT |

48) Which of the following is natural sources of ionizing radiation? / fadd e

AT RI fafdHur & ypfas wid 82
1. Medical X-rays and cosmic radiation. / fafecia QEFHQ SRIERISCACIERUL

2. Radioactive elements in the crust of the earth and in the human body. / q%ﬂ G| dTel Ud T
A YRR H ASgredf aq |

3. Radioactive elements in the human body and diagnostic X-ray machine. / THA IRR T

T Teg wefia A ey aql

4, Radioactive fallout and environs of atomic energy plants. / mﬂﬁa’ R dYT UHIT] Sl
T & aRUCT|

Correct Answer :-

« Radioactive elements in the crust of the earth and in the human body. / qﬁr &t dTed Ud T
AHdg TRR | ¥Sared ad|

49) In cobalt 60, what is the geometric penumbra of the beam dependent on? / PIETE 60 ﬁ,

oy 3t sfirdta SussTan f5a wR enfda gidi 82
1. Source size / ¥AId BN

2. Field size / &3 3MHR

3. SAD / THUS]
4, Energy/@k_ﬂi

Correct Answer :-

« Source size / Enﬂ PR

50) The concept of tissue weighting factor is used to do which of the following? / Sd® HIRTP

PR I raurRon, Fafared & S w1 #1 & oy gl 82

1. Account for the risk to the entire organism brought on by irradiation of individual tissues and organs. /

THd Had! adT 3T & B0 gRI GR Sitd $I §TATEH BT gl |

2. Eliminate the need for determining effective dose. / YTt YR[h BEIESEZS ARSI CECE I
THTWT hRATI

3. Measure absorbed dose from all different types of ionizing radiation. / gt fafid IR & SR
fafep=uT 4 Sar=nfSyd wm= A
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4. Modify the radiation weighting factor for different types of ionizing radiation. / IEIREREIRET
3R} fafehRur & ferw fafhur HRTehT HReb FNTEUd BT

Correct Answer :-

e Account for the risk to the entire organism brought on by irradiation of individual tissues and organs. /

THA SaAb! qul 3T & fHRUF gRT I Sitd P gU Sy o1 guiH|

51) Which one of the following statement is INCORRECT with regard to the rules for parallel

circuits? / FHTATGR IRl & Fram] & Gdy & & 9 o9 91 $YF Tad 22

1. The sum of the currents through each circuit element is equal to the total current. / Td® URuY d@ 9
BIHR TR aTel YRTST BT TN, T URT &b SRISR g |

2. The total resistance is equal to the sum of the individual resistances. / Wmﬂ, Wm%ﬁ & g

P RIR AT 3|

3. The voltage across each circuit element is the same and is equal to the total circuit voltage. / S [r

ROy I I TORA a1l dieed!, AT 8l § TUl $d URUY dieedl & sRIsR gldl ¢ |

4. The total resistance is the inverse of the sum of the reciprocals of each individual resistance. / ¢

UfeRY, TA% U UfeRIY & bl & I BT Ufdad gidl 5 |

Correct Answer :-

o The total resistance is equal to the sum of the individual resistances. / wuﬁﬁ% Wm?ﬁ & gt

F RIER BT g

52) The half life of *’Mo is ___ hours./ 99@3ﬁ' 31 aref g He gidt %I
1.5

2.65.9

3.8

4. 48

Correct Answer :-

e 659

53) What is a nucleon composed of? / q%raﬁ%r A T Eﬁ?ﬂ%"
1. Electrons and protons / sﬁai;h GRIRIGIE]

2. Neutrons and electrons / f*d\g‘:ll'-l 3R $ad§Tﬂ

3. Protons and neutrons / Fei 3R reﬂ\gi:ll"l

4. Only Protons / &ad Uiei-
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Correct Answer :-

- Protons and neutrons / e 3R 4;!&]'.1

54) The measurement of the thickness of patient from the point of beam entry to the point of

beam exitis called /mmﬁgﬁmmﬁgaﬁﬁﬁ
A ®IAY, = Hgiodie

1. Exit beam / 1Y fh0rgs
2. Dmax / ST

3. Separation / JYdh U
4. Entry beam / WA=l g

Correct Answer :-

« Separation / YYdh U

55) What is BSF independent of? / ﬁw g @ w@dax Eﬁ?ﬂ %?
1. SSD / THTHS!

2. Energy / ol

3. Field Size / &3 3THR

4. Source size / T SATHR

Correct Answer :-

. SSD/Tgugs!

56) External electron beam can be shaped by ./ STt 3@3@77'[ ﬁ)_{UTgTvI G|
& GRT PR fear s aHar g

1. Wedge/qﬁ)[(a\—rl)
2. MLC/ QHQEWN

3. Cerrobend blocks / @ﬁa@: Ts

4. EDW / Sele&g

Correct Answer :-

e Cerrobend blocks / @ﬁé@' e

57) PDD increases with /WSSt & g1y dadl % |
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1. Increased energy / EI_C.ﬁ 5‘5‘ 3ol
2. Decreased field size / YT 31 & HR

3. Increased depth / qal Eé 1 IERl's‘
4. All of the above / SURTeRT GHI

Correct Answer :-

« Increased energy / G—Gﬁ Eg Sl

58) Which of the following statement explains the inverse square law? AT

I Yop ¥ 91 gy &1 aftfq wear g2

1. For every action there is an equal and opposite reaction. / Ud® fhar & fore v gHH 3R
faosia ufaferar Bt 81

2. Product of current and kVp and time. / YIRT TYT Il aUT 5 BT 10t d

3. Intensity is inversely related to the square of the distance from the source. / GIEGIRCIGES EA'_\PF &

I P P AU &Il B

4, The voltage in the two circuits is proportional to the number of turns in the two coils. / al

gRat & e, §l Haferdl o HIG! Bl T o FHIUTd! Bidl g |

Correct Answer :-

« Intensity is inversely related to the square of the distance from the source. / GIEGIRCIGES @ &

I P P AU Il & |

59) What is the dose rate of HDR? / TUSI3IR &1 AT &3 (?ﬁ\_t[ i?) T 8?
1. >0.2Gy/min

2.>0.2Gy/hr

3.>0.2cGy/hr

4, <0.02Gy/min

Correct Answer :-

« >0.2Gy/hr

60) Magnetron is a device for producing ./ T IUT P b ﬁl’({ U
UERS

1. Electron / ‘s’éa?;”r:l

2. Photons / BIeIT
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3. Microwaves / Wﬁ&q

4. DC power / ST gieR

Correct Answer :-

« Microwaves / ATgshidod

61) According to the magnetic law, the force of attraction or repulsion between two magnetic poles
varies directly as the of the poles and between them. / gaaﬂ'a ffau &
R, & g1 Ydl & 1, MHUvr a1 ufrpuor 9a, yai & qYT ST o

ou & IR ufkafdd gt 2

1. Heat, strength / $BHI, dcf
2. Heat, distance / 3 ®HI, Q_\P[
3. Strength, distance / d¢T, @

4. Strength, breaking / §cT, fqueH

Correct Answer :-

« Strength, distance / §¢, @

62) The radioisotope used to treat cancer tumor and cells is WA 354 gHY 3R

DIRGI3M & ITAR F TYa HSARTHRITD, gl
1. Phosphorus-32/ I IRY-32
2. Cobalt-60 / DI -60

3. Carbon-14 / ®Ta-14
4. Cobalt -59/ HIETT -59

Correct Answer :-

« Cobalt-60 / BT -60

63) Which is an example for artificial radioactivity substance? / ?ﬁ'ﬁ mﬂﬁmﬁiﬁ Th
ISTERUT B T 82

1. Radium-226 / Af&TH-226

2. Potassium-40 / thmﬁ—%

3. Uranium / W
4. Cobalt-60 / BIHTeC-60

Correct Answer :-
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« Cobalt-60 / BIETE-60

64) n a radionuclide generator, if the parent nuclide is 99Mo, then, what would be its

daughter nuclide? / U% IfSANYIATsS 9-Rex H, Ul S gaargs, 22uHail 8, dY sHPT
Hafd (STex) gadrgs T g

1. 238U
2.11¢
3.99me
4.92Cu

Correct Answer :-

65) Electric motor is a device that converts . /ﬁg’q_d ez Udh ﬁﬂT LP] % il .
ufvafda sear 21

1. Electric energy to mechanical energy / ﬁ@ﬂ Sl B Gl 3ol |
2. Mechanical energy to electric energy / TqiA® Sl B i?llgi-ld S
3. Magnetic field to electric energy / W &3 Bl ﬁ_‘g{qﬂ Sl §
4. Electric energy to magnetic field / ﬁ_gtlﬁ Sl Bl ﬂaaﬂ“:r aa d

Correct Answer :-

 Electric energy to mechanical energy / ﬁ_g{qﬁ Sl P FiAEH SHoif J

66) What does the cell survival curve describe? / BITRIBT ITASHIAT aH @ﬁ mﬁ
$d) T 9fofd HIa1 82

1. The relationship between the radiation dose and the number of cells that have gone through

mitosis after irradiation. / fafdpor AT (@GD TUT HIRIBTSA DT TBAT o &l THY, S TR
& d1g FATHTS & ToRdT B |

2. The relationship between the radiation dose and the proportion of cells that can produce DNA. /

fafsur AT (SioT) TUT ST ST HRA B F&H HIRIGISN o 3IUTd & did Hae |

3. The relationship between the radiation dose and the number of cells that have not suffered the

loss of a specific function. / fafdsuT AT (SioT) T fafry CAUEAN B K W&‘Iﬁ CAIEAR
EIREEIEACIER LN

4. The relationship between the radiation dose and the proportion of cells that survive. / ICIEZU
O qUT STROId! HIRIBIS &b AT & ol Jaie |
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Correct Answer :-

« The relationship between the radiation dose and the proportion of cells that survive. / ICIEZU

AT qUT STReid! DIRIBTS & SUTd & o Haiy |

67) Which one of the X-ray contributes no useful information to the image? / CaC k| m&', Bfd

& forg forelt STaht ST &1 ahTer =T5Y Peat 32
1. Photoelectric effect / UPIRI ﬁ_{{qﬁ UH1d

2. Pair production / ™ JdTaT

3. Photodisintegration / UPp1-fque

4. Compton scattering / HIed Yo

Correct Answer :-

« Compton scattering / HIed Y10

68) The number of positive charges in the nucleus is called the of the nucleus. /

TS | LFTHS AR B =T, AFUD Pt Feardiel
1. Atomic number / GHTU] T

2. Mass number / ST AT

3. Atomic weight / UXHIU[ HIX

4, Mass weight / GJHI HR

Correct Answer :-

« Atomic number / UHTU] T

69) Bolus is used for following purposes, EXCEPT for ./ &

3rarTar, st Frafifad Sexal & Rie vy gar |

1. Increasing the surface dose / Hddg HIAT (S\I\SI) aar?r & fam

2. Reducing the electron beam penetration in some parts of the target / <& & DS YT o 3@7@'\#{
fARUTYS TR HH DR B,

3. Shielding adjacent structure around the target / I&H & IRI 3R et E?gc AT Ui H3A

4. Irregular surfaces / fafid a8

Correct Answer :-

« Shielding adjacent structure around the target / ¢1&J & IRI 3R et _Q"sc AT g8 A
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70) What do isotopes have in common? / YT § T A ﬁ?ﬂ %?

1. The same mass number but different atomic number. / FHTT FTHTT THAT U RP] UHIT]
T |

2. The same proton number and neutron number. / JHIT Ulel- S aul «i;Tﬂ I |

3. The same proton number but different neutron number. / JHIT e G- LG e :CE'T:T
S|

4. The same neutron number but different proton number. / JHI ri;!\cAi\Il--I NEC3| SR | IEERIGE
pireal
Correct Answer :-

« The same proton number but different neutron number. / HHIT gieid e R P QE:T:T
ezl

71) The intensity of production of X-rays is directly proportional to the product of the
and . | TFI-X B Iy ot e, qdr & UFET & SIHUTIITT
gt 3

1. Quality, mAs / T[0T, THUTY

2. Tube current, exposure time / RF YRT, S HHY

3. Quality, tube current / T[UIGTI, &RId YRT
4. Quality, exposure time / TOTATI, &[T JHY

Correct Answer :-

 Tube current, exposure time / RF YR, ST HHY

72) ray photon has neither mass nor electric charge. / U wed T

SoIUT gl § 3X 71 ¢l fagaasmawr giar g
1. Alpha / 3ethl
2. Beta / SIcT

3. Gamma / TTTHI

4. Neutron / ?E:I%[

Correct Answer :-

e Gamma / TTTHI
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Which of the following agencies is responsible for enforcing radiation safety standards? / fafewor

TRET TS A1) B & fore FFaferiea & @ s ot wwa Swrerit @2
1. ICRP / 3SR

2. NRC / TH3IRE!

3. NCRP / TSRt

4. UNSCEAR / JEUIIISUSR

Correct Answer :-

« NRC /T3l

74) The fraction of the total radioactivity in a sample which is in the form of the desired

radionuclide is known as ./ GPh :lﬂﬁ | Pd IfEareffar & si=t , oY gifea

AU gaEe S FUA TR, HEI AT g |
1. Radioactivity / JfSTfHar
2. Radioemission / ST IToi-

3. Radionuclide purity /mw Redl
4, Radiochemical purity R ECINRIRIEED Lexdl

Correct Answer :-

o

« Radionuclide purity / X BIEP CNIESRN T

75) Select appropriate definition for Use factor from the given options. / ﬁ't{ e fApei# @
TN SRS DI Srad URYTT BT T4 B

1. The quantity that best describes the weekly radiation use of diagnostic X-ray. / HIAI, S W QG?H-B\’

o1 Ao fafesur i gafaq &g & aftfd s 21

2. Quantity that was introduced to select this fractional contact time. / HIZI, 5 31ifR1% Judh THg &1
TG B b fer feram |

3. Modify the shielding requirement for a particular barrier by taking into account. / U BIEGEIEIED 1Y
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4. Energy of the scatter radiation is equal to the primary radiation. / PEANERCIERUECH] 3\_7”, It ea
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Correct Answer :-

» Quantity that was introduced to select this fractional contact time. / HIAI, 5 31ifR1e Jush THg &1
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